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int read_lattice(void){
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int i=0;
FILE *fp;
fp=fopen("O OO OO OO","r");
fscanf (fp,"%d %1f %1f %1f %1f",&n_max, &LL[0], &LL[1], &LL[2], &theta);
LL[1]=LL[1]/cos(theta);
for(i=0;i<n_max;i++){
fscanf (fp,"%lf %1f %1f",&lattice[i] [0],&lattice[i] [1],&lattice[i][2]);
}
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1.922538 0.744208 ©.500000
0.496139 0.062017 0.500000
0.434122 ©.558156 0.000000
0.000000 0.000000 1.000000
1.922538 0.744208 1.500000
0.496139 0.062017 1.500000
0.434122 ©.558156 1.000000
1.860521 1.240347 ©.000000
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0330000
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double dist(double al[3], double b[3]){

double dist1=0.0, dd=0.0;

int i;

for (i=0;i<3;i++){
dd=al[il-b[il;
dd=dd-round(dd/LL[i])*LL[i];//0 00000000
distl += ddx*dd;

}

return sqrt(distl);
}
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gobbboogbbbuoobbbuooobbbuooou-1booobobobo
Ubbogb-1000booobbodid calc_catom O gdoogonoog
gobbobbboooobbbuoidbDmax_x,min xU00O0DO0O0O0O0O0O0OO0O
OO0 0.51xcos@ DO ODOUODOODODOODO

int mk_calc_atom(void){
int h,i,i_atom=0;
double x_cut=0.51;
double max_x=-100.0,min_x=100.0;
for (h=0;h<n_max;h++){
if (lattice[h] [0]>max_x){
max_x=lattice[h] [0];
}
else if (lattice[h] [0]<min_x){
min_x=lattice[h] [0];
}
+
for(i=0;i<1000;i++){ calc_atom[i]=-1; }
for(i=0;i<n_max;i++){
if ((latticeli] [0]<max_x-x_cut*cos(theta))&&(lattice[i] [0]>min_x+x_cut*cos(the
calc_atom[i_atom++]=i;

3.4 0UO0OOO

gbbodbob3debudbbogbbuoobuobbuoobbobuoabb
gogobbobobodoooooobobbbooooobboobbooooooboboo
gobbooboogbboboo

int blockmove(double dx,double dy,double dz){
int out;
for (out=0;out<n_max;out++){
if (lattice[out] [0]>0.0){
lattice[out] [0]=latticel[out] [0]+dx;
lattice[out] [1]=1lattice[out] [1]+dy;
lattice[out] [2]=latticel[out] [2]+dz;
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double innerRelax(int mc){

int h,i=0, j,atom;
double de,dd;
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U 0O double T=0.001;
srand ((unsigned) time(NULL));
for (h=0;h<mc;h++){
reset_NL();
mk_NLQ) ;
atom=0,i=0;
while((atom=calc_atom[i++])>=0){
for(j=0;3j<3;j+H){
dd=(1.0-2.0%(rand()?%10000/10000.0))/100.0;
de=e_diff(atom,dd, j);
if (exp(de/T)<(rand()?%10000/10000.0)){//0 000000
lattice[atom] [j]-=dd;
}
else{

3.6 U0y

0000000 (DO NL)ODOODOOooOooOoUooooouooooooooo
gogobbobobodoooogoboboobbbodoooooobobbooooooo
gogobobbobboouoooobbbobbbuooooooobbobboagg
gbog3suubuogobuoglibogbbodbboobbuoobbooboba
UONLOOODONLDOODOODOOobOoobooobobooboboo1gd
gogooobobobbobododoouoooobboobobobododooooo 1obougd
gbobobgbNLOOOobhoboboboooobob NLOoboDbooo

gobbobuooobboboooobon

int mk_NL(void){

int i,j,i_nl,i_atom;

double di;

3=0;

while((i_atom=calc_atom[j++])>=0){
i_nl=0;
for(i=0;i<n_max;i++){

di=dist(latticel[i_atom],latticel[i]);
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if (i!'=i_atom){
if ((d1<0.9)){//00000000ONLOOO
nl[i_atom] [i_nl]=i;
i_nl++;

g 38 bbooogon

3.7 OUogoooooon

gobobbooooouoobbuooouobbboooobobbobouoooo
000 EAMOOODOO (Embedded atom method) 0 000 0O

double eam_energy(int i_atom){
double q,a0,b0,poq,p,rep,rho,x0,E0Q;
int i,i_nl;
g=4.00;a0=23.8538969400;b0=9.7680902790;
pog=2.0;p=q*poq;
rep=rho=0.0;
E0=0.0;

i_nl=0;
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for (i_nl=0;nl[i_atom] [i_nl]>=0;i_nl++) {
i=nl[i_atom] [i_nl];
x0=dist(lattice[i_atom] ,lattice[i]);
rep+=exp (-p*x0) ;
rho+=exp(-2.0%q*x0) ;
EO=a0*rep-b0O*sqrt (rho) ;

}

return EO;

gubbogobboobbdoobboobbooobooobboboobood
e_total U OOOODOOOOO

double e_total(void){
int i,j=0,i_atom;
double e_total=0.0;
while((i_atom=calc_atom[j++])>=0){
e_total+=eam_energy(i_atom) ;
}

return e_total;

0000000000000 oooooooouooooooooon
0000000000000 ooooooooooo1oooooooooo
O0001000000000 e_totald [-OO0OOO]1O00O0OC00O0O00OO0OOO
O000000000O000O00O0O0O00 e_total OO Qooagd

O0O0O0O0 etotal —0O0000O0O e_total

0oooooo = 3.1
90 (3.1)
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enerqy = z x rep — \/ B x z x hop*

rep = Axexp(—p*r) (5.1)
hop = exp(—q * )
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6.3 arctan(1/2)
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HRERERERE

include Math

require ’pp’
$m = 1.000

class Atom
attr_accessor :pos, :posO, :nl
def initialize(pos)
enl=[]
@pos=Array.new(pos)
@posO=Array.new(pos)
end
def energy()
# return 1j_energy()
# return morse_energy()
return eam_energy ()

end

def reset_nl()
Onl=[]
end

def 1j_energy(O#LJP
a0=1.587401051
e0=-1%4.0/12.0

ene=0.0

nl.each do |jl
r=distance(Qpos,$atom_list[j].pos)
a=1.0/(a0*r)
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ene+=e0* ((a*x*6)-(a*x*12))
end
return ene
end

def morse_energy()#Morse potential
gq=2.0;a0=1.409902389;b0=0.6855417295
# g=4.00;a0=23.8538969500;b0=2.8198047780;
pog=2.0;p=g*poq
ene=0.0
nl.each do |jl
r=distance(Qpos,$atom_list[j].pos)
ei=alO*exp (-p*r)-bO*exp (-q*r)
ene+=ei
end
return ene
end

def eam_energy()#EAM potential
# g=2.00;a0=1.4099023880;b0=2.3747862110;
q=4.00;a0=23.8538969400;b0=9.7680902790;

pog=2.0;p=g*poq

rep=rho=0.0

nl.each do |jl
x0=distance(@pos,$atom_list[j].pos)
rep+=exp (-p*x0)
rho+=exp (-2.0%q*x0)

end

return aO*rep-bO*sqrt(rho)

end

end

def makeLattice()
file = open(’2428ruby.txt’)
atom_list=[]
while line = file.gets do
posO=line.chomp.split(" ")
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posi=[]
pos0.each do |pl
posl << p.to_f
end
atom_list << Atom.new(posl)
end
file.close
#puts atom_list.size
#exit
return atom_list
end

$nx=2*$m

$ny=4*$m

$nz=2*$m

$theta=atan(1.0/8.0)
$L=[100.0,%$ny/cos($theta) ,$nz]
def distance(a,b)

tmp=0

for i in 0..2 do
x=a[i]-b[i]
x=x-(x/$L[i]) .round*$L[i]
tmp+=x*x

end

return sqrt(tmp)
end

def distancetes(a,b)

tmp=0

Pp a

pp b

for i in 0..2 do
x=al[i]-b[i]
x=x-(x/$L[i]) .round*$L[i]
tmp+=x*x

end

return sqrt(tmp)
end
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def mkAtom_include
atom_include=[]

-100

100

$atom_list.each do |i_al

max_Xx

min_x

if i_a.pos[0] > max_x then
max_x = i_a.pos[0]
elsif i_a.pos[0] < min_x then
min_x = i_a.pos[0]
end
end

$atom_list.each_with_index do |i_a,idx|
if i_a.pos[0] < max_x-0.51*$m*cos($theta) && i_a.pos[0] > min_x+0.51*$m*cos ($t!
atom_include << idx
end
end
return atom_include
end

def makeNL()
$atom_list.each do |ail ai.reset_nl end
nmax=$atom_list.length-1
for i in 0. .nmax do
ai=$atom_list[i]
for j in i+1..nmax do
aj=$atom_list[j]
if distance(ai.pos,aj.pos)<0.9%$m then
ai.nl << j
aj.nl << 1i
end
end
end
#puts aj.nl.size
end

def block_move(dx,dy,dz)
$atom_list.each do |atom]|
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if atom.pos0[0]>0.0 then
atom.pos[0]=atom.posO[0]+dx
atom.pos[1]=atom.posO[1]+dy
atom.pos[2]=atom.pos0[2]+dz
end
end

end

def total_E()
total_E=0.0
$atom_include.each do |il
total_E+=$atom_list[i] .energy()
end
return total_E

end

def diff_E(atom, j,dx)
e0 = atom.energy()
atom.nl.each do |il
if $atom_include.member?(i) then
e0+= $atom_list[i] .energy()
end

end

atom.pos[j]+=dx
el = atom.energy()
atom.nl.each do [il
if $atom_include.member?(i) then
el+= $atom_list[i].energy()
end
end
#puts "e0",e0l
#puts "el",el
diff_E=e0O-el
atom.pos[j]-=dx
return diff_E

end

T=0.001
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$MC=false
def InnerRelax(trial)
trial.times do
makeNL ()
#pp $atom_list
$atom_include.each do |il
atom=$atom_list[i]
#pp atom
for j in 0..2 do
if $MC then
$trial+=1;$accept+=1
eO=total_E()
dx=(1.0-2.0*rand())/100.0
de=diff_E(atom, j,-dx)
if exp(-de/T)<rand() then #mc
$accept-=
atom.pos[j]-=dx
end
else
$trial+=1;$accept+=1
dx=(1.0-2.0*rand())/100.0
atom.pos[j]+=dx
de=diff_E(atom, j,-dx)
if de>0 then
$accept-=1
atom.pos[j]l-=dx
else
# puts"YEAH"
end
end
end
end
#printf ("accept, trial:%d %d \n",$accept,$trial)
end

end
def brent(x0,x1,x2,xmin)

block_move(x0,dy,dz)
e0=total_EQ)
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return emin
end

def OuterRelax(nrange)

rd1=0.0

min=[0.0,0.0,0.0,1000]

for zz in 0. .nrange do

for yy in 0. .nrange do
for xx in 0..10 do

$trial=0
$accept=0
$atom_list=makeLattice()

$atom_include=mkAtom_include()

dx=xx/20.0
dy=yy/20.0
dz=zz/20.0
#dx=(xx/100.0)
#dy=0
#dz=0
block_move(dx,dy,dz)
makeNL ()
InnerRelax (0)
e0=total_E()
printf ("%10.5f %10.5f %10.5f %10.5f\n",dx,dy,dz,e0)
if min[3]>e0 then
min=[dx,dy,dz,e0]
end
end
end
end
printf ("%10.5f %10.5f %10.5f %10.5f\n",min[0] ,min[1],min[2],min[3])

$atom_list=makelLattice()

$atom_include=mkAtom_include ()

boundary_E=(min[3]-(-$atom_include.size))/($ny*(1/cos($theta))*$nz)
printf ("boundary_E\%10.5f \n",boundary_E)
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dx=min [0]
dy=min[1]
dz=min[2]

block_move (dx,dy,dz)
makeNL ()
InnerRelax(0)

end

$t0=Time.now
nrange=10
OuterRelax(nrange)

file = File.open(ARGV[O0],’w’)

for i in 0..$atom_list.size-1
file.printf ("%10.5f %10.5f %10.5f \n",$atom_list[i].pos[0],$atom_list[i].pos[1],
end

file.close

puts $atom_include.size

p Time.now-$t0
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#include<stdio.h>
#include<stdlib.h>
#include<math.h>
#include<time.h>

int n_max;

double lattice[5000] [3];

double result_lattice[5000] [3];
int nl[5000] [20];

int calc_atom[5000];

double theta;

double LL[3];

double x_cut=0.51;
//double x_cut=2.01;
double T=0.001;

int read_lattice(void){
int i=0;
FILE *fp;
fp=fopen("2224.txt","r");
fscanf (fp,"%d %1f %1f %1f %1f",&n_max, &LL[0], &LL[1], &LL[2], &theta);
LL[1]=LL[1]/cos(theta);
//printf ("%4d %10.5f %10.5f %10.5f %10.5f\n",n_max, LL[O], LL[1], LL[2], theta);
for(i=0;i<n_max;i++){
fscanf (fp,"%1f %1f %1f",&latticel[i] [0],&latticel[i] [1],&latticel[i] [2]);
//printf ("%20.15f %20.15f %20.15f\n",lattice[i] [0],lattice[i][1],lattice[i] [2]
}

int mk_calc_atom(void){
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int h,i,i_atom=0,tes=0;
double max_x=-100.0,min_x=100.0;
for(h=0;h<n_max;h++){
if (lattice[h] [0]>max_x){
max_x=lattice[h] [0];
}
else if (lattice[h] [0]<min_x){
min_x=lattice[h] [0];

}
for(i=0;i<1000;i++){ calc_atom[i]=-1; }
for(i=0;i<n_max;i++){
if ((lattice[i] [0]<max_x-x_cut*cos(theta))&&(lattice[i] [0]>min_x+x_cut*cos(the
calc_atom[i_atom++]=i;
test+=1;

+
//printf ("%10.5d\n" ,tes);

double dist(double a[3], double b[3]){
double dist1=0.0, dd=0.0;
int 1i;
for (i=0;i<3;i++){
dd=alil-b[il;
// printf ("%10.5f\n",dd) ;
dd=dd-round (dd/LL[1i])*LL[i];
// printf ("%10.5f\n",dd) ;
distl += ddx*dd;

return sqrt(distl);

int reset_NL(void){
int i,j,i_atom;
i=0;
while((i_atom=calc_atom[i++])>=0){
// for (i=0;i<n_max;i++){
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for (j=0;j<20;j++){
nl[i_atom] [j1=-1;
}

int mk_NL(void){
int i,j,i_nl,i_atom;
double di;
3=0;
while((i_atom=calc_atom[j++])>=0){
// for(i_atom=0;i_atom<n_max;i_atom++){
//i_atom=0;
i_nl=0;
for(i=0;i<n_max;i++){
dl=dist(lattice[i_atom],latticel[i]);
if (i!'=i_atom){
if ((d1<0.9)){
nl[i_atom] [i_nl]l=1i;
//printf ("%d %d %10.5f\n",i_nl,i,d1);
//printf ("%10.5f %10.5f %10.5f\n",lattice[i] [0],latticel[i][1],lattice[i][2]);

i_nl++;

int print_NL(int i_atom){
int 1i;
printf ("%3d:",i_atom);
for (i=0;i<15;i++){
printf ("%3d,",nl[i_atom] [i]);
+
printf ("\n");

double 1j_energy(int i_atom){
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double a0,e0,ene,x0,a;
int i,i_nl;
a0=1.587401051;
e0=-1%4.0/12.0;
ene=0.0;
for (i_nl=0;nlli_atom] [i_nl]>=0;i_nl++) {
i=nl([i_atom] [i_nl];
x0=dist(lattice[i_atom],latticel[i]);
a=1.0/(a0%*x0) ;
ene+=e0* (pow(a,6.0)-pow(a,12.0));
}
return ene;

¥

double eam_energy(int i_atom){
double q,a0,b0,poq,p,rep,rho,x0,EQ;
int i,i_nl;
// g=2.00;a0=1.4099023880;b0=2.3747862110;
//  q=4.00;a0=23.8538969400;b0=9.7680902790;

//  pog=2.0;p=g*poq;

//q=2.00;a0=2.899640767 ;b0=1.781089660;
//pog=3.0;p=g*poq;

q=3.00;a0=24.18922289;b0=3.612254621 ;
poqg=3.0;p=qg*poq;

rep=rho=0.0;

E0=0.0;

i_nl=0;

for (i_nl=0;nll[i_atom] [i_nl]>=0;i_nl++) {
// printf ("%3d\n",nl[i_atom] [i_nl]);
i=nl[i_atom] [i_nl];
x0=dist (lattice[i_atom],lattice[i]);
//printf ("%20.15f\n",x0) ;
rep+=exp (-p*x0) ;
rho+=exp(-2.0%q*x0) ;
EO=a0*rep-b0O*sqrt (rho) ;
// printf ("%20.15f \n",E0);
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}
return EO;
}
double e_total(void){
int i,j=0,i_atom;
double e_total=0.0;
while((i_atom=calc_atom[j++])>=0){
e_total+=eam_energy(i_atom) ;
//printf ("%10.5f\n" ,e_total+=eam_energy(i_atom));
}

return e_total;

double e_diff(int atom, double dd, int j){
double e€0=0.0,e1=0.0,de;
int k=0,k2=0,calc_num,1=0;

eO=eam_energy (atom) ;

for(k=0;1>=0;k++){
1=nl[atom] [k] ;
for(k2=0;calc_atom[k2]>=0;k2++){
calc_num=calc_atom[k2];
if (calc_num==1){
eO+=eam_energy (1) ;

3

//printf ("ENEO %20.15f\n",e0);

lattice[atom] [j]+=dd;
int k_2=0,k2_2=0,calc_num_2=0,1_2=0;
//printf ("%20.15f\n",lattice[1] [j1);
el=eam_energy (atom) ;
for(k_2=0;1_2>=0;k_2++){
1_2=nl[atom] [k_2];
for(k2_2=0;calc_atom[k2_2]>=0;k2_2++){
calc_num_2=calc_atom[k2_2];
if(calc_num_2==1_2){
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el+=eam_energy(1_2);

}

//printf ("ENE1 %20.15f\n",el);
de=e0-el;

return de;

double innerRelax(int mc){
int h,i=0,j,atom;
double de,dd;
srand ((unsigned) time(NULL));
for(h=0;h<mc;h++){
reset_NL();
mk_NL();
atom=0,i=0;
//printf("-—-——-—————— trial %10.5d\n",h);
while((atom=calc_atom[i++])>=0){
for(j=0;j<3;j++){
dd=(1.0-2.0x(rand ()%10000/10000.0))/100.0;
de=e_diff(atom,dd,j);
if (exp(de/T)<(rand ()%10000/10000.0)){
//if (de<0.0){
lattice[atom] [j]-=dd;
}
elseq{

int outerRelax(void){
int xx,yy,zz,1;
int nrange=0;
int mc=100;
double €0=0.0;
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double min_data[4] = {0.0,0.0,0.0,1000.0%};
for(zz=0;2zz<=0;zz++){
for (yy=0;yy<=0;yy++){
for(xx=1;xx<=1;xx++){
//double dx=(xx/100.0),dy=(yy/100),dz=(zz/100) ;
double dx=(xx/100.0),dy=(yy/20.0),dz=(2z/20.0);
read_lattice();
mk_calc_atom() ;
blockmove (dx,dy,dz) ;
reset_NL();
mk_NL();
innerRelax(mc) ;
e0=e_total();
printf ("%f %f %f %10.5f\n",dx,dy,dz,e0);
if (min_data[3]>e0){
min_data[0]=dx;min_datal[l]=dy;min_data[2]=dz;min_datal[3]=e0;
for(i=0;i<n_max;i++){
result_lattice[i] [0]=lattice[i] [0];
result_latticel[i] [1]=1latticel[i] [1];
result_latticel[i] [2]=lattice[i] [2];

printf ("result\n%f %f %f %10.5f\n",min_datal0] ,min_datal[1],min_data[2],min_dat

int blockmove(double dx,double dy,double dz){
int out;
for (out=0;out<n_max;out++){
if (lattice[out] [0]1>0.0){
lattice[out] [0]=1lattice[out] [0]+dx;
lattice[out] [1]=1lattice[out] [1]+dy;
lattice[out] [2]=1lattice[out] [2]+dz;
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int main(void)

{
clock_t start,end;
start=clock();
//read_lattice();
//mk_calc_atom();
//reset_NL();
//printf ("Under mk_NL\n");
//mk_NLQ);
//innerRelax () ;
outerRelax();
FILE *fp;
int i;
fp=fopen("outlattice.txt","wt");
for(i=0;i<n_max;i++){

fprintf (fp,"%20.15f %20.15f %20.15f\n",result_lattice[i] [0] ,result_lattice[i][

}
fclose(fp);

end=clock() ;
printf ("% .5fsec\n", (double) (end-start)/CLOCKS_PER_SEC) ;

return O;
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restart

energy:=z*rep-B*sqrt (zxhop~2) ;
rep:=Axexp (-p*r) ;
hop:=exp(-g*r) ;

energy;
ij_EAM:=unapply(energy,r) ;

hparameters:

z:=12;

q:=3.0;

poq:=3.0;

p:=q*poq;

ij_EAM(T);

soll:=solve(diff (ij_EAM(x),x)=0,x);
x0:=s011[3];

f1:=fsolve({ij_EAM(x0)=-1.0,x0=1.0/sqrt(2)},{A,B});

) ) .
z:="z";

ij_EAM:=unapply(subs(f1l,energy), (r,z));

plot([ij_EAM(x,12)],x=0.2..2.0,y=-1.0..0,labels=["¢C ()","E(eV)"]);
plot([ij_EAM(x,12),ij_EAM(x,8),ij_EAM(x,4),ij_EAM(x,14)],x=0.2..2.0,y=-1.5..0,1labe
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